RS (Her—e) R gouidr JHIo—u= uieT 2017

favg — f2=i
|AT — 02.30 ©C quries — 100
o Gl I (RTEET ) s
L1 ) B 1 R G2 B 1
Ry L CE R 1 TERER DN oo

. IR BT PRl A B |
. U HHIG 1 GRS T | $HD YD U WR 2 b T |
U BB 2 § 7 IF T AN © | D I W 4 3P B |

1
2
3
4. U9 PHIG 8 W 12 THIRIY 8 | TID U W 6 3P ¢ |
5
6

. U HAHIG 13 T 14 ] TR & | TP U W 8 b T |
. U HHIG 15 < ITRIY © | 59 WR 10 3P T |

e 1 (%) Sford e Sifey —

Tus (37) s (d)

ST R — T HHAT FATAT

EEINGIRIE — HIIIR UGHTDHR / ELEG /o)

S H AR 99 Fahl — CIRCECIN I D

T g YRo3AT - I CE I

fasra der — Sf. S =>gaal
() Brod H AU Y Sl H ¥ FEl wed gAdx Rad W B Y] dIforg |
1. ‘RIETdT U6 F BURITET oo Hbfold &1 (318, garia)
2. WRER Ucd HI AfFIA U6 H TRER UTH DI oo CRERS

CIREINICET)

3. TERT fA9IYl & WIGATa® FST T B oo | (TS, TE)

1



4. RIS TP oo NE (e, )

U9 3 —

URq 4 —

URq 5 —

K K< E T P IQER0 & | (§78 FHN, By FH)
PHA H 98 HIRT FA—81—F9 47 A & o7 ? (3Tp — 4)
WRER Ucal Pl Al Maplen aar off ? (3f® — 4)
gdh  BSHRCEXY g9 &I 3BT R ANT of ? (3w — 4)
TS 3TUAT T DY g7 © 2 (@f® — 4)

Jrerdr



Bfaar @1 fFr=feRad dfadal § Si9—a1 3cier 8 2

(h) SIDHR TAY SThN |

(@) ARt {9 MY ET 39T T oA ?

IS5
U 6 — SRR folEs & RIT—aT o 8 Ihd © 7 (3f® — 4)
aferdr

fFrforRad ereal o1 w9 faus Sy iR FH &1 T oIy |
RIS, BICI—dS!
IS5

ge 7 —  AT@l Bl I AL H QA o7 & oI HERTS AR g 7 &l e
R o ? (o — 4)



g 8 —  rfailRad ugaier & SeH—uT Afed ARAr FHifoTy | (3T — 6)
S B9 qBd Y gl I,
3R Gd A YT ¥ 377 V@ SR Q! B
AT AT H 39 T 379 |
aferar
| o U Hhe—BR, Fd 1 I B9 |

3ge Tl Us &, Wi fer & diq | |



URq 9 —

URq 10 —

FrforRaa e &1 Hev UG dAfed AR B | (376 — 6)

d TP IR Fal, fam IR, gurg AE ek fia feeg
AT Y 9| 9 Uh FEET O 9 Me WRY Y R ogedl ¥
STHIRR I T 0T R BT I B I8d I |

AT

ol &R BR R 2 ? g Wl TP §R B, Boll ¥ | i@ gaw

g A Mg SMT Jgg—hell 8l ©| el R © ol =@rdll 4
HIT—IR—ATT < H |

A IR 9gd AMed R FHicd TWHE oo ASHT
AT| TT AU AT o I TPR ST RIAM e
fFarg S of foram oRaT o7 | 98 ST @16 B AT v 37
AT ®r |1 gRaT oo H TS bl oA | U a7 IFD fOar ...
.............. ®El, "9CT Tell, W D UM Fof | MK . BB ST

AR R o <ord 2|



U9 11 — (U9 YIS Bl AR THIOT UF YT R & U 3frdg U

ferRa | (ei — 6)
3rerat
U 9 /\gell DI 37U URIET DI TARAT B SMHBNT ad U UH
ferfRag |
1S53 TS
e 12 — fyfaRaa Teaier &1 |aRie U+ vl # foRau | (3w — 6)

TS A AU IR WA b U HoR URSH $HR AT
98T & 2| 9% P TANT 1 ST, B9 KT B qeIell BT §¥ heA
H o gU 21 g4 Bfe uRsM gafely o) @ € difd IR Bl g
el | AN HESd &1 Teion & b o_dl 9R ERIATE! & 3R ARYR 31+
HT IUTGT B VBT & | 3MS B9 S URSH & heaRdwy UTal eIl
T AFE of B ¢ |




ged 13 — 9 A8 Bl FMYdD UgdR Ad QU Ul & IR oy |

(sip— 8)

YRAT @ IS 35U B b AMI by U b dcc s8I | /Y
Ol G dTell 31 YUY € IS Y Al bl S B D N U
UR A% O ¥HI| O SRAA B T9 §gd b Ul B 8D
ARIT—RET AT T <, BR BB UM G=Al B (AR RE gl | I &
o R arerr ot o Ice™ /1 AT Y, o9 & U ARG oY 37S
MR Wieg & 81 IeeM & UR A5 Sff AHT | SHE & Tleg I &

o Ol B 9Tl UM 8 Yl 377, Slell 89 Gl We b Al
TA—HYT T & U1 |

(@) &Rl & g1GC HsdAT © 7

(@) AT B U &7 Hal g < 7



(1) ¥—STel BTl Higd ?

(&) 9Tl & &9 by Tre ?

e 14 — A QU TG DI AYdD Ufey R U & IR TRy | (3f—8)

el =1 1 & F8T & — F99 O & GAM B, I G 3R
[AADAT H BH AU g9 B B9 | 9T B Ui AT TQT A1)
XA | BROT, g9 Al AT 8, b TAT A R o™y &1 37T |
I BT golc g1 o I fordn, S| SiiF @1 $hell dig o,
g IR Ffg & WeR @ Holl T wR ol |

() i @Y o fed @1 7 @ 7
(@) & R WY H a7 3R B ?
(1) ST B Pell T dg <t ?
(&) e o1 Sfad ofide Qg ?




g 15 — fodll o fawg w fagy faRay | (3w — 10)

RIS o
HEICKIl

U bleld

ATl hl Hed

HFYCX hl SUINI



10



RS (Herr—s) Rrer goiar gArT—u= udierr 2017
SUBJECT- ENGLISH
Time- 230 hrs Max. Marks-100
NOTE- Attempt all the questions.

Q 1. Tick () the correct answ. (2x10=20)
()  Thequarrel between the mountain and the squirrel Wwasi
(@) length (b) strength (c) ability

(i)  Sudha @andraiwore a .............
(@) modern dress (ltraditional dress  (olestern dre:

(i) Rashmi wore ane............ in the party.

(a) costumi (b) castume (c) cestume
(iv) The opposite of ich’is..........

(a) poor (b) richer (c) good
() Ganga is a holy riv.

(@) the (b) an (c) a
(vi) The rhyming word of ‘fog’i ..............

(a) dog (b) fox (c) rock
(Vi) IS your name

(@) why (b) where (c) what
(viii) Don't ....... the gift with this dirty paper.

(a) circle (b) tie (c) wrap
(ix) The meaning of ‘grab’

(@) tothrom (b) to catch (c) tokeep
(xX) The catissitting........... the box.

(Look at the picture and complete the bla BOT .

(@ on (b) in (c) over 3 /LVT

Q 2. Answer the following question in dete (1x4=4)

i. How did Sudha Chandran lose her |

A 1



Q 3. Answer the following question in detail? (aome)
I.  Who is called the birdman of India? Why?
ii.  What is the ISI mark used for?

AN 5 1

Q 4. Read the passage and answer the given guestion (2x2=4)

Did you know that spiders are not insects? Theyaateally a group of
animals related to insects that have eight legsthadhave poison. There
are many different kinds of spiders. They livealer the world and can be

found anywhere including your home.
Questions:

I. Where are spiders found?
ii. How many legs do the spiders have?

N 11 7

AN S Il

Q 5. Fillin the blanks. {bd)
Golu ......... Monu are brothers. ......... have a puppy. ........iS

ddesat biscuits.



Q6.

Q7.

Qs.

Qo.

ANs.

ANs.

Make a word web related to the word given: (1x4=4)
A
< Market >
Write the odd one out. (2x2=4)
I. Banana, apple, tomato, orange ...l
ii. Pencil, pen, plough, book ..l
Fill the correct form of tense: (2x3=6)
. go ... gone
ii. sing sang = ...l
ii.  buy bought  ..........
Do as directed: (2x3=6)

I. I am going to school. (Change into negative semenc

ii.  The doctor is in the hospital. (Make a questiomgisihere’)



Q 10. Write an application to your Headmastersfok leave. (1x6=6)
Or
Write a letter to your father asking him for R805or buying books.

AN S, e e e e e e e

Q 11. Read the passage and answer the given questio

Humming bird is found in West Indies and South édrilt is a very small
bird. It looks like a bright flash of light. It mak a soft humming sound. So
it is called humming bird. The sound is made byrtftewement of its wings.



Questions:

I.  Where are humming birds found? (1x2=2)
AN,
ii.  Write two sentences about humming bird. 262
AN,
Q 12. Arrange the words as you find them in tlutiakhary (1x6=6)
thrill, dub, miracle, fate, recital, tribute
AN,
Q 13. Read the passage and answer the questi@arsigplow: (2x4=8)

Krishna Devraya was known for his patronage of paed scholars. He was
equally fond of fine arts. Once he came to knowuakm brilliant artist
named Raja Varma. He invited Raja Verma to thetcand asked him to
draw his portrait.

Questions:
I.  What was Krishna Devraya known for?

P
ii.  What was Krishna Devaraya fond of?

P
ii.  Who was the brilliant artist?

P



Iiv. Why was the artist invited?

AN S, e e e e e e e e e,

Q 14. Read and complete the information. (1x8=8)

Suresh is a doctor. He is 22 years old. He has brown eyes and curly hair. He
is smart and fair. He is 5’6" (five feet six inches). He wears jeans and T-shirt.

INAMeE @ eeiiiiiiiiieeetenntttttetettttecannnnnnnaanne

) s
5 2 7 £
Gender :  .oeiiiiiiiiiiiiiirrr e
Dress : i

Profession: — ....ccceeeiieiiiiiiiiiiiiiiiiiiiiiiiiiiiiaionn

Q 15. Write an essay on any one of the topics. ({1@@ls ) (1x10=10)

a. My School b. The Cow c. Any Festival
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